		RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL (Tohono O'odham Alcoholism & Substance Abuse Prevention and Rehabilitation Program)
		RES. NO. <u>279-86</u>
1	WHEREAS,	The Tohono O'odham Nation has successfully operated an Alcoholism
2 3		Program for its people; and
4	WHEREAS,	The Tohono O'odham Council recognizes that Alcoholism is one of the
5		most pressing and chronic health problems confronting the Tohono
6		O'odham people; and
7	WHEREAS,	The Tohono O'odham Alcoholism Program intends to continue providing
8		services to eligible clients by structuring its program into three
9		areas: youth services, adult services, and operation of a Rehabili-
10		tation Center; and
11 12	WHEREAS,	25 CFR Section 271.20 require that all proposals to recontract under
12		P.L. 93-638 regulations be submitted for approval to the Tohono
14		O'odham Council at least 120 days prior to the contract termination;
15		and
16	WHEREAS,	The Tohono O'odham Council purposes to continue the Tohono O'odham
17		Alcoholism program during FY 87 by contracting P.L. 93-638 funds;
18		and
19 22	WHEREAS,	The Tohono O'odham Council has reviewed and approved the Alcoholism
20 21		program contract.
21	NOW, THE	REFORE, BE IT RESOLVED by the Tohono O'odham Council that it does
23		authorize and request the Public Health, Indian Health Service to
24		contract with the Tohono O'odham Nation under P.L. 93-638 regulations
2 5		and procedures for the provision of services titled: Alcoholism &
26		Substance Abuse and Rehabilitation Program; and
27	BE IT FU	RTHER RESOLVED that the term of this contract will commence on October
28		01, 1986 through September 30, 1987.
29 30	BE IT FU	RTHER RESOLVED that the Tohono O'odham Nation will not fund or operate
30 31		a program from which contracts are requested herewith which have not
32		been negotiated and executed by the Indian Health Service prior to

RES. NO. 279-86 (Tohono O'odham Alcoholism & Substance Abuse Prevention and Rehabilitation Program) Page Two (2) 1 the start of the funding year. 2 BE IT FURTHER RESOLVED that Josiah Moore, Chairman, Francisco Jose, Jr., Vice-3 Chairman or Rosita N. Ruiz, Treasurer of the Tohono O'odham Nation 4 are hereby authorized to negotiate and execute these contracts and 5 any amendments thereto for the duration of the contracts, provided 6 Sea. 5 にすべいが必要がある however that any amendments affecting the funding or funding levels 7 of the contract shall be submitted for further prior approval by :8 <u></u>9 this Council. 10 The foregoing resolution was passed by the Tohono O'odham Council on the 19th day of May, 1986, at a meeting at which a quorum was present with a vote of 11 1356.0 for; -O- against; 158.0 not voting; and 126.0 absent, pursuant to the 12 powers vested in the Council by Section 1 (f) of Article VI of the Constitution of the Tohono O'odham Nation, adopted by the Tohono O'odham Nation on January 13 18, 1986, and approved by the Acting Deputy Assistant Secretary - Indian Affairs (Operations) on March 6, 1986, pursuant to Section 16 of the Act of 14 June 18, 1934 (48 Stat. 984). 15 TOHONO O'ODHAM LEGISLATIVE COUNCIL 16 17 annul 18 Harriet Toro, Legislative Chairperson 27" day of May , 19 86. 19 20ATTEST: 21 22 Ophelia F. Campillo, Legislative 23 Secretary ______ day of <u>May</u>, 19<u>26</u>. 24 :25 Said Resolution was submitted for approval to the office of the Chairman of the Tohono O'odham Nation on the $23^{\prime\prime}$ day of $M_{4\prime\prime}$, 1966, at 125 o'clock, p.M., pursuant to the provisions of Section 5 of Article VII of the 26 27 Constitution and will become effective upon his approval or upon his failure to 28 either approve or disapprove it within 48 hours of submittal. 29TOHONO O'ODHAM LEGISLATIVE COUNCIL 30 31 32Harriet Toro, Legislative Chairperson

RES. NO. 279-86 (Tohono O'odham Alcoholism & Substance Abuse Prevention and Rehabilitation Program) Page Three (3) on the <u>28</u> day of <u>*Mlay*</u>, 1986, at <u>2:5</u>2 o'clock, <u>P</u>.M. 1 $[\mathbf{N}]$ APPROVED) :2 [] DISAPPROVED) 3 il- Mone 4 JØSIAH MOORE, Chairman 5 /TOHONO O'ODHAM NATION 6 . Returned to Legislative Secretary on the 38^{-44} day of 7119<u> £6</u>, at <u>3:58</u> o'clock, <u>P</u>.M. 10 Ophelia F. Campillo, Legislative 11 Secretary 12 13 14 15 16 17 18 19 20 21 :22 23 24 25 26 27 28 29 30 31 32

MOVED: JULIA CARRILLO

2

SECOND: JOHNSON JOSE

DATE: 5/19/86

SUBJECT: TOHONO O'ODHAM ALCOHOLISM & SUBSTANCE ABUSE PREVENTION AND REHABILITATION PROGRAM

٠,

DATE: <u>5/19/86</u>			RESOLUTION XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX			₽ 279-86
DISTRICTS	REPRESENTATIVES C	# <u>DF_VO</u> TES	FOR	AGAINST	NOT VOTING	ABSENT
SIF OIDAK	<pre>1. Elliott Lewis (Eugene F. Jose)</pre>	69.0	X			X
138	(Eugene F. Jose) 2. Nicklos Jose (Letitia Garcia)	69.0	x			
SELLS	 Andrew M. Patricio (Nora Alvarez) 	128.5	х			_
257	(Dennis E. Jose)	128.5	X			X
S CHUK ТОАК	1. Joseph Juan	52.5	x			•
105	() 2. Julie Carrillo (Jo Ann Francisco)	52.5	X		•	
SAN XAVIER	1. YVONNE CORELA XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX	63.0				X
126	(ANXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX	63.0		· · · · · · · · · ·	· · · · · · · · ·	X
BABOQUIVARI	1. XØRXXXXØRXXXXA (Edward N. Kisto)	120.5	X	•		
241	(Edward N.Kisto) 2. Kenneth Chico, Sr. (Frances Miguel)	120.5	X			.
GU ACHI	 Angelo J. Joaquin,Sr (Jonas R. Robles) 	79.0			:X	
158	(Jonas R. Robles) 2. Fernando Joaquin (Fred Adams, Jr.)	79.0			X	•
PISINEMO	1. CHEROME AN TONE SOME VESTIMATION FOR A MONTAN 3 A	58.0	X			
116	XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX	58.0	X	· · ·		
SAN LUCY	1. John Reno	42.5	X			-
85	() 2. Max P. Jose (Dewey I. Ortega)	42.5				
GU VO	1. Cross Antone	58.5	X	 		
117	(Fern E. Salcido) 2. Virgil Lewis (Roy Montana)	58.5	X			· · ·
HICKIWAN	1. Henry A. Ramon	64.0	x			
128	(Pablo Baptisto) 2. Lloyd Francisco (Eleanor Santos)	64.0	X			
СНИКИТ КИК	1. Rosemary Lopez (Anita C. Clark)	84.5	x			
169	2. Harriet Toro (Marvin J.Thomas)	84.5	X .			
TOTALS	-	1640.0	1356.0	-0-	158.0	126.0